

Orthogonal Jordan Triple Higher Reverse Left (resp. Right) Centralizer on Semiprime Rings

Fawaz Raad Jarullah *

Department of Financial and Banking Sciences, Imam Alkadhim University College, Iraq.

International Journal of Science and Research Archive, 2026, 18(02), 639-643

Publication history: Received on 28 December 2025; revised on 15 February 2026; accepted on 18 February 2026

Article DOI: <https://doi.org/10.30574/ijrsra.2026.18.2.0223>

Abstract

The aim of this article to offer the entry of orthogonal Jordan triple higher reverse left (resp. right) centralizers a ring Y & survey this concept.

Keywords: Semiprime ring (for short s.r); 2-torsion free; Orthogonal Jordan triple higher reverse left (resp. right) centralizers

1. Introduction

The connotation of orthogonal Jordan triple higher reverse left (resp. right) centralizers (for short O.J.T.H.R.L (resp. R))C is a substantial in non-commutative algebra. In [1] and [2] can see the definition of s.r and 2-torsion free (for short 2-tf) resp. of ring, approaching for more initiation [2&3].

In this work, define and study the concept of O.J.T.H.R.L (resp. R)C of s.r, need the next Lemmas:

1.1. Lemma (1.1): [2]

Let Y be a 2-tf s.r & \varkappa, ω be elements of Y , then the next requirement are comparable

- $\varkappa\omega = 0$, for each $e \in Y$
- $\omega\varkappa = 0$, for each $e \in Y$
- $\varkappa\omega + \omega\varkappa = 0$, for each $e \in Y$

If one of these requirement is achieved, then $\varkappa\omega = \omega\varkappa = 0$

1.2. Lemma (1.2): [1]

Let Y be a 2-tf s.r & \varkappa, ω be elements of Y if $\varkappa\omega + \omega\varkappa = 0$, each $e \in Y$, then $\varkappa\omega = \omega\varkappa = 0$

2. Orthogonal Jordan triple higher reverse left (resp. right) centralizer on Semiprime Rings

2.1. Definition (2.1):

Two J.T.H.R.L (resp. R)C $\mathcal{X} = (\mathcal{X}_i)_{i \in \mathbb{N}}$ & $\mathcal{Q} = (\mathcal{Q}_i)_{i \in \mathbb{N}}$ of a ring Y are called orthogonal if $\mathcal{X}_n(\varkappa)Y\mathcal{Q}_n(\omega) = (0) = \mathcal{Q}_n(\omega)Y\mathcal{X}_n(\varkappa)$, each $\varkappa, \omega \in Y$ & $n \in \mathbb{N}$.

* Corresponding author: Fawaz Raad Jarullah

2.2. Lemma (2.2)

Let Y be a 2- tf s.r $X = (X_i)_{i \in \mathbb{N}}$ & $Q = (Q_i)_{i \in \mathbb{N}}$ are two J.T.H.R.L (resp.R)C of Y . Then X_n & Q_n are orthogonal if and only if $X_n(\gamma) Q_n(\omega) + Q_n(\gamma) X_n(\omega) = 0$, each $\gamma, \omega \in Y$ & $n \in \mathbb{N}$

Proof :

Imply X_n & Q_n are orthogonal

T.P. $X_n(\gamma) Q_n(\omega) + Q_n(\gamma) X_n(\omega) = 0$

Seeing that X_n & Q_n are orthogonal

$$\sum_{i=1}^n X_i(\gamma) e Q_i(\omega) = 0 = Q_i(\omega) z X_i(\gamma), \text{ for each } \gamma, \omega, e \in Y$$

As a consequence, through Lemma (1.1) , outcome

Conversely , imply $X_n(\gamma) Q_n(\omega) + Q_n(\gamma) X_n(\omega) = 0$, each $\gamma, \omega \in Y$ & $n \in \mathbb{N}$

T.P. X_n & Q_n are orthogonal

$$\sum_{i=1}^n X_i(\gamma) Q_i(\omega) + Q_i(\gamma) X_i(\omega) = 0$$

Left multiply by $X_{i-1}(e)$

$$\sum_{i=1}^n X_{i-1}(e) X_i(\gamma) Q_i(\omega) + X_{i-1}(e) Q_i(\gamma) X_i(\omega) = 0$$

seeing that X_n & Q_n are commuting

$$\sum_{i=1}^n X_i(\gamma) X_{i-1}(e) Q_i(\omega) + Q_i(\gamma) X_{i-1}(e) X_i(\omega) = 0, \text{ for each } \gamma, \omega, e \in Y$$

Through Lemma (1.2) , outcome

2.3. Theorem (2.3):

Let Y be a 2- tf s.r $X = (X_i)_{i \in \mathbb{N}}$ & $Q = (Q_i)_{i \in \mathbb{N}}$ are two J.T.H.R.L (resp.R)C of Y , where X_n & Q_n are commuting. Then the next requirement are comparable, each $n \in \mathbb{N}$:

- X_n & Q_n are orthogonal
- $X_n Q_n = 0$
- $Q_n X_n = 0$
- $X_n Q_n + Q_n X_n = 0$

Proof: (a) ⇔ (b)

Imply X_n & Q_n are orthogonal

T.P. $X_n Q_n = 0$, each $n \in \mathbb{N}$

Seeing that X_n & Q_n are orthogonal

$$\sum_{i=1}^n \Delta_i(\gamma) e \varphi_i(\omega) = 0 = \sum_{i=1}^n \varphi_i(\omega) e \Delta_i(\gamma), \text{ each } \gamma, \omega, e \in Y$$

$$(\gamma) = 0; \Delta_{i-1}(\Delta_i(\gamma)) = \Delta_{i-1}(\varphi_i(\omega)) = \Delta_{i-1} \left(\sum_{i=1}^n \varphi_i(\omega) e \Delta_i(\gamma) \right)$$

As a substitute for $\Delta_{i-1}(\Delta_i(\gamma))$ by $\Delta_i(\varphi_i(\omega))$

$$\sum_{i=1}^n \Delta_i(\varphi_i(\omega)) \Delta_{i-1}(e) \Delta_i(\varphi_i(\omega)) = 0$$

Seeing that Y is a s.r

$$\sum_{i=1}^n \Delta_i(\varphi_i(\omega)) = 0, \text{ for each } \omega \in Y \Rightarrow \Delta_n \varphi_n = 0, \text{ each } n \in N$$

Conversely, imply $\Delta_n \varphi_n = 0$, each $n \in N$

T.P. Δ_n & φ_n are orthogonal

$$\Delta_n(\varphi_n(\omega e \gamma)) = 0$$

$$\sum_{i=1}^n \Delta_i(\varphi_i(\gamma)) \Delta_{i-1}(\varphi_{i-1}(e)) \Delta_{i-1}(\varphi_i(\omega)) = 0, \text{ each } \gamma, \omega, e \in Y$$

As a substitute $\varphi_i(\omega)$ by γ

$$\sum_{i=1}^n \Delta_i(\gamma) \Delta_{i-1}(\varphi_{i-1}(e)) \Delta_{i-1}(\varphi_i(\omega)) = 0$$

As a substitute $\Delta_{i-1}(\varphi_{i-1}(\omega))$ by $\varphi_i(\omega)$

$$\sum_{i=1}^n \Delta_i(\gamma) \Delta_{i-1}(\varphi_{i-1}(e)) \varphi_i(\omega) = 0, \text{ each } \gamma, \omega \in Y \dots (1)$$

Seeing that Δ_n & φ_n are commuting

$$\sum_{i=1}^n \varphi_i(\omega) \Delta_{i-1}(\varphi_{i-1}(e)) \Delta_i(\gamma) = 0, \text{ each } \gamma, \omega \in Y \dots (2)$$

Through (1) and (2), outcome

Proof: (a) \Leftrightarrow (c)

Selfsame in (i) \Leftrightarrow (ii), secure get (a) \Leftrightarrow (c).

Proof: (a) \Leftrightarrow (d)

Imply Δ_n & φ_n are orthogonal

By (ii) & (iii) , outcome

Conversely , imply $\sum_{n \in \mathbb{N}} \mathcal{X}_n \mathcal{Q}_n + \mathcal{Q}_n \mathcal{X}_n = 0$, each $n \in \mathbb{N}$

T.P. \mathcal{X}_n & \mathcal{Q}_n are orthogonal

$$\sum_{i=1}^n \mathcal{X}_i(\mathcal{Q}_i(\omega e \gamma)) + \mathcal{Q}_i(\mathcal{X}_i(\omega e \gamma)) = 0$$

$$\sum_{i=1}^n \mathcal{X}_i(\mathcal{Q}_i(\gamma)) \mathcal{X}_{i-1}(\mathcal{Q}_{i-1}(e)) \mathcal{X}_{i-1}(\mathcal{Q}_{i-1}(\omega)) + \mathcal{Q}_i(\mathcal{X}_i(\gamma)) \mathcal{Q}_{i-1}(\mathcal{X}_{i-1}(e)) \mathcal{Q}_{i-1}(\mathcal{X}_{i-1}(\omega)) = 0$$

As a substitute $\mathcal{Q}_i(\gamma)$ by γ & $\mathcal{X}_i(\gamma)$ by γ

$$\sum_{i=1}^n \mathcal{X}_i(\gamma) \mathcal{X}_{i-1}(\mathcal{Q}_{i-1}(e)) \mathcal{X}_{i-1}(\mathcal{Q}_{i-1}(\gamma)) + \mathcal{Q}_i(\gamma) \mathcal{Q}_{i-1}(\mathcal{X}_{i-1}(e)) \mathcal{Q}_{i-1}(\mathcal{X}_{i-1}(\gamma)) = 0$$

As a substitute $\mathcal{X}_{i-1}(\mathcal{Q}_{i-1}(\gamma))$ by $\mathcal{Q}_i(\omega)$ & $\mathcal{Q}_{i-1}(\mathcal{X}_{i-1}(\gamma))$ by $\mathcal{X}_i(\omega)$

$$\sum_{i=1}^n \mathcal{X}_i(\gamma) \mathcal{X}_{i-1}(\mathcal{Q}_{i-1}(e)) \mathcal{Q}_i(\omega) + \mathcal{Q}_i(\gamma) \mathcal{Q}_{i-1}(\mathcal{X}_{i-1}(e)) \mathcal{X}_i(\omega) = 0, \text{ each } \gamma, \omega, e \in Y$$

Through Lemma (1.1) & Lemma (2.2), outcome

2.4. Theorem (2.4)

Let Y be a 2- tf s.r , $\mathcal{X} = (\mathcal{X}_i)_{i \in \mathbb{N}}$ & $\mathcal{Q} = (\mathcal{Q}_i)_{i \in \mathbb{N}}$ are two J.T.H.R.L(resp.R)C of Y , imply $\mathcal{X}^2_n = \mathcal{Q}^2_n$. Then $\mathcal{X}_n + \mathcal{Q}_n$ & $\mathcal{X}_n - \mathcal{Q}_n$ are orthogonal .

Proof :

$$\begin{aligned} & ((\mathcal{X}_n + \mathcal{Q}_n) (\mathcal{X}_n - \mathcal{Q}_n) + (\mathcal{X}_n - \mathcal{Q}_n) (\mathcal{X}_n + \mathcal{Q}_n)) (\gamma) \\ &= \sum_{i=1}^n ((\mathcal{X}_i(\gamma) + \mathcal{Q}_i(\gamma)) (\mathcal{X}_i(\gamma) - \mathcal{Q}_i(\gamma)) + (\mathcal{X}_i(\gamma) - \mathcal{Q}_i(\gamma)) (\mathcal{X}_i(\gamma) + \mathcal{Q}_i(\gamma))) \\ &= \sum_{i=1}^n \mathcal{X}^2_i(\gamma) - \mathcal{X}_i(\gamma)\mathcal{Q}_i(\gamma) + \mathcal{Q}_i(\gamma)\mathcal{X}_i(\gamma) - \mathcal{Q}^2_i(\gamma) + \mathcal{X}^2_i(\gamma) + \mathcal{X}_i(\gamma)\mathcal{Q}_i(\gamma) - \mathcal{Q}_i(\gamma)\mathcal{X}_i(\gamma) - \mathcal{Q}^2_i(\gamma) \end{aligned}$$

As a consequence, through Theorem(2.3)(iv) \Rightarrow (i), outcome

3. Conclusion

In this paper we defined the concept of Orthogonal Jordan Triple Higher Reverse Left (resp. Right) Centralizer on Semiprime Rings we can find more of properties about this concept. According to the previous results, the future study in this paper will define Γ - rings and we can find more of Theorems and properties.

Compliance with ethical standards

Disclosure of conflict of interest

There was no conflict of interest

References

- [1] I.N. Herstein , "Topics in Ring Theory", Ed. The University of Chicago Press, Chicago,1969.
- [2] F.R.Jarullah and S.M. Salih, "A Jordan Higher Reverse Left (resp.Right) Centralizer of Prime Rings", Academic Journal for engineering and science,3(4),p.p.12-18, 2021.
- [3] B.Zalar,"On Centralizers of Semiprime Ring", Comment. Math. Univ. Carol.,32(4), p.p.609-614,1991.